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D C B A Questions / o Ul e
I e o S e 5
< p Tl < by fnd =od Ao =wdy fod ; 'c_tnuui" 1
.:))/c.»f ,g]'c»f :»f@/){:.»g ,g/'c»"; . :
e There is loss when:
SP < CP SP > CP SP=MP SP=CP
i 1
27 ZE 2 22 J2 =7 2
dysALe Sk S Az et el L p85esT| 3
o i ) The form of a tax which a buyer pays on a manufactured
Excise duty Sales tax Income tax Tax item at the time of purchase is called:
Py U,:}_(:ij/;)l LIJJ;)I = %;{L’?&U’ZZT{JLLAPU’J{ 4
Insurer Insurance policy Insurance Insured The company undertaking the act of insurance is called:
’7 =z i
| | | | ?Kmﬂquﬁ‘er/{gﬁU;!ulu/.:,._ij’&;gg;Uﬂui.:ﬁi/;Km 5
6 2 s 4 The share of widow in the presence of a child or agnatic
- ) grand child is: A ]
0l bl ksl kil kil e bt Ti-X)=0| 6
‘ &
Mode Harmonic mean | Geometric mean | Arithmetic mean | 3(x; _i) =0 is one of the propertics of:
2 ) 4 4 X:?Li,yzzufb(-y:(w 7
Fory=2in 2x-y =6, we havex =?
_"'/C"’/(u;:") u}'GKJdej (/'l}’"c'/:.lli' JJV;.."/.."(‘; LL"U';‘( AUB=BUA CLGC-B/J’AU;:/J) 8
~ ' i v =
Complement of | De-Morgan's | agsqciative law RTINS | e any two sets A and B, AUB=BUA iscalled:
two sets law law
- - N a e df e Ul 2,6,11,17... 9
For 2,6, 1L, 17 e as IS
Jut Ve § n¥ sde vurzfuf/ ny<a| 10
Base Exponent Radicand Radical In an, niscalled:
Excise duty Income tax Salcs tax Tax The tax in addition to the price of the article is called:
it = Sl H S s L5 12
The periodic installment to be paid by the insured is
Markup Premium Discount Bonus called:
1 1 1 i3 S UGz H N2 U Blskor | 13
2 3 8 4 The share of a widow in inherited property is:
055 70 (50 2 . ‘e 20% ¥ 600\ 14
L¥'__ s 20% of 600 is:
TTE | HF | e | e R ke ab| 15
{ Means | Consequent AI1tC£3(10l1t Extreme Inaratioa: b, "a"is called:
! - —
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( Part - I Ji adas )

Attempt any SIX parts: "0‘4’ -z, :éf-:d‘}l}.’l‘g:_.éf

S AR S LSy s 26% S22 2% e SUFL L LGS ()
A hockey team won 62% of their matches and 26% of them were ended in a draw. What percentage of the matches
they lost?

Rs. 150, Rs. 275 & el £ e i pmbiids (i
Find the ratio of the first quantity to the second in its lowest form. ~ Rs. 150, Rs. 275

Express the given ratio in its simplest form: “}%% -]1-(2)“ % :éu:ffup@(;—,é&%, (iii)
Ifa:b=2:3 find the ratio 6a: 2b «ér:“”6a:2b?a:b=2:3/ﬁ (@iv)
Find the SP, when CP = Rs. 950 and profit = 10% 10% = sl &9 950 = phed BEeassfed (V)
Find the CP, when SP = Rs. 100 and profit 33% % Bu%= 4 &1 100 = edihed Gt ek 2ed (vi)

Find the MP, when SP = Rs. 2400 and discount = 4% 4% = 2rf sl &5 2400 = sl S P dB s (vii)
L 0.4536 = ﬁsg.,g,é;ér#ﬂf%&qj e FALBe21 KU (vili)

Rate of tea in Pakistan is Rs. 2.1 per pound. Find the rate per kilogram. 1 pound = 0.4536 kilogram.

Find the profit on Rs. 54000 for one year at 12% per annum ..g‘,';r:l”dl'/c..b/&;l)b'n% éd:JVJ/L»MOOO (ix)

Attempt any SIX parts: c{d"]'ic&f

Calculate Zakat on gold amounting to Rs. 1500000 -c{r}"d/(!u //d_y’LJ‘ <22 1500000 (i)

b2 Lon§uin e Sl /1500000 slor {id QLJ”J A G

If a deceased left a property of worth Rs. 1500000, workout the property, if he left behind a widow.

Calculate Zakat on gold amounting to Rs. 1110000 ~=/751”L"° :‘///,J':{ﬁd_?_u 1110000 oﬂl.(,(i_//f’ (iii)
Wiite in scientific notation: 2566324 2566324 &AL (v
Write in decimal form: 636.5x107° 636.5%x107° @’,uff‘f,:,l;il )
Solve: log5+log20+ log 24 + log 25 — log 60 log$ +log 20 + log 24 + log 25 — log 60 g_;';/J’ (vi)
If log x = 0.1597, find x _ri{r':l"’:»fu( X v log x =0.1597 /fl (vii)

"JL(}W/U{ILLJ’@J‘&,;/ 45000 m/cf s 400 S BFEBTS AN (i)

If gross pay of a person is Rs. 45000, then calculate his net take home salary, after deduction of Rs. 400 as income tax.

G e A SA STl 40 200 efl et 6 SES ()
Khalid works 6 day-weck. Find his gross monthly wage, if his rate of pay is Rs. 200 per day.

Attempt any SIX parts: c{d‘;lilic.(j:(
Write the first three terms: ~ @n :% an = 22’1:15 Jr,’/u’d” 0]
Find the G.M. between -2 and 8. _E b At 82 (D)
If A={-2, 1, 4}, then find two binary rclations in A . <é&1'u(3@»uﬁ' AdA={-21 4}/‘/1 (iii)

e » atBxA sl AxB B=(1,3} <A=(23,40 @)
IfA=(2,3,4},B={1,3) then find two binary relations in AxB and BxA .

Represent the point A(2,—4) on graph paper. -é’f/;\ﬁ/?/;/rdl/f AR~ B (v)
of = 3 (op ¢ :
Convert 127°F into °C, if C=2CF=32) /j C=5CF-32) Jigf it oc S 127°F - ()

(i)

‘3
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Find the arithmetic mean of data: 3,5, 6,8,8,9,10 3,5,6,8,8,9,10 ig‘;r)h’kml(}vml:’ (vii)

2

Find A.M. between e o r ; "-é")’f}wu"fu?uff x2ax+l, xF-x+l (viil)
Find the 5th term of a G.P. 4,-12,36, ... ..“é(yb"f/u:ﬁ J 4,-12,36, ... ,U*d/ (ix)

vt 08 L ZE felip L e cphpd daan

Part - II, Attempt any THREE questions. Each question carries 08 marks.

E UL UL ke 1 576 A EE 4 HEF 3 U Gl el LT (D
A triangle has sides of lengths 3cm, 4cm and 6cm. Find the ratio of the lengths of the sides to one
another.

0 3:4:5 agﬁuﬁuﬁiuiﬁéﬂjﬂ‘f&_mzo Lo R Y ()

Distribute Rs. 720 as a profit amongst three people, 50 that their shares are in the ratio 3 : 4 : 5.

ué(;"”&g’l.(fﬁ&.«@ﬁcﬂd,u 2000000 .«Ju;&.}LJJf?um.bég.;wm;,Qézr!Lng (¥
The inherited property amounting to Rs. 2000000 is left by a deceased. He left behind a widow
and two sons. Workout the share of each.
0.9876 x (16.42)2
i . 1/
Use logarithm table to evaluate (4.567)"

Flbitdes - FLLus Sadb /e oLl 2% DS I GL =5 7500000 LU (D)
et 10% Ut e S e
Raheel insured his house worth Rs. 7500000 for 5 years. Calculate the amount paid in 5 years,
while rate of depreciation is 10% yearly. Rate of insurance is 2% year.

Find three A.Ms between v 2 and 6~ 2 _é/()” AMs Lol 632 uf 42 G

Foe U8 4.5% 613l Srtsfe s 3000 (oGSl e g 430000 BTSSP (D)
-égr)*’ﬂ)l

The total taxable income of a person is Rs. 430000. If he is given rebate Rs. 3000 on the tax
chargeable, then workout the amount he has to pay as an income tax @ 4.5%.

S kI B=(7,8,11,12 )5 A={7,10,13,14} «U=1{18,9,10,11, 12, 13, 14}/7 Ciwsd
(ANB)® =A°UB®
FU={7,89,10,11,12,13,14},A={7,10,13, 14 } and B={7, 8, 11, 12 } then prove that
(ANB)®=A“UB®

E L S e ()

- Draw the graph of ¥ ‘—‘—;:* _’4:@,_5!/? y=—)2i (D

b 5L s e JSt e W 30 suis” ()
The table shows the distribution of marks of 30 children in a test. Represent the given data using
frequency polygon.

it

: 0-39 0- = -

Marks 40 -49 60 -79 80-99
% 8 8 10 4

Frequency
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D C B A Questions / R A:"/
- - _ - _>_.- ) . 7
e MU S |
20% 35% 20 35 " S
5@ interms of percentagz is:
e W BILTE 75 - ¢
17:15 1915 15:19 15:17 _ e WP 751 95] 2
_ |Lowest formof 75: 95 1s .
& % (g 7 -
% 5% 10% 20% :‘.‘-Z—’/JJ;KU(/;F/:VML{U‘;("CJ"5()/"’ 3
23 ¢ e . Cn a crop produced on natural rescurces, Ushar is
deducted at a rate of: o ~
7 510 , i Juife .1 s
| | | 1 { (,(u?/’u(o’ 15/ u;v"..@:ufrf_ u/’ufmf 9/ d;..&u,‘ 4
8 2 6 e fthere is ruly a single daughter N 151y
y g g ¢
N or an agnatic grand daughter her share is fixed:
& ):/';,af < w);/g/f =.>5)/".,w§ =>):A.»§ l/?‘(., t‘ﬂuu}] 5
whrped IS ) Lt it Loss is there when: ‘
SP<CP SP>CP SP =MP SP=Cp 4 -
e "y Y ov e le S e ir g PP 6
Markup Premium Bonus Profit ~ IThe return earned by the bank or loan is named as:
¢ sk - $ 2 e i Ge SUPI g | T
The person or entity whose insurance is being done is
Lessec Drawer Insured Insurer called the:
= 77 7, v ey e
dgi L A S uE o Z A St SasT ! 8
Excise duty Income tax Sales tax Tax The tax in addition to the price of article is called:
P b 53 ¥ ‘ i F a2 "
S S Pyl S S EA L PSS St tys) 0
) ) Taxes in the form of duties, motor vehicle taxes are
income tax Property tax Direci tax Indirecttax  |called:
= . I B .
))65 ),wu}’l: iy 2 4o wiu’{ SVE T
Integer Rational sumber Radicand Radical »4__3_\/””7“ is called: B
2
S (Sl a .
162 30 161 160 | o 5U82,6,18,. ... i1
] as of 2,0, 18, ... .. is
= = > - S L Al !
J3 23 W3 o7 | o Seled el sl 12
[G.M. between 1 and § is: )
! ANB=? J jmer .t B 4IAJI| 13
BUA BNA ANB ) ‘ %
E 1If A and B are two non-empty overiapping sets then
L ANB=? o
| 7 2
. 5 . . ' v=1 i k=2 L y=32 A1 14
e e Ify=3xthenforx=2wehavey=? | .
B T Lol /2 bl £y e bt T -X)=01 15
\/\rithmclic mcun‘ Mode Geometric mean | Harmonic mean | $ix; — X) =0 is one of the properties of:
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( Part-1 J3l 4as )
Attempt any SIX parts: Fw-‘ z-u 3;{(_}‘;"2'4;’ C.—Gl(

1 .
Express the percentage as decimal 53%. *Eidikﬂzlw'f 5%% 0]
Express decimal as percentage 0.065. _g’:d:,‘;u:w,(djl«,ﬂ 0.065 (i)

el w S UIYI P as% e LIPS i)

1f 45% of students in a school are girls. What percentage of boys?

b 4 3 a - . 4 b
Express ratio in its simplest form 57 . & ST 5 i% (iv)
Find the CP, when SP = Rs. 2640 and loss = 12 % 12% = Wb sl L3 2640 = =y jnd BEEAPU P (W)
Find the SP, when CP = Rs. 950 and profit = 10% 10% =& sl &3 950 = /:/'QE.{».;;(#’&,)QE (vi)

Find the SP, when MP = Rs. 2760 and discount = 5% 5% = Lo sl s 2760 = ol ln RS et el (vii)

Sl ES By L b e oL sl £ Bire 2200 2% £, 9000 L (i)
Mr. Saleem invests Rs. 9000 at 2% per annum profit. What profit is at the end of year?
K 04536 = 23y B BB co 3L 0L s 21 e @)
Rate of tea in Pakistan is Rs. 2.1 per pound. Find the rate per kilogram, 1 pound =0.4536 kilogram.
Attempt any SIX parts: 1§°§J;IZ 2 G—J}(

wé’fr)h'ﬂ%ﬁ&-rj AN LYE e ME e 1L - AU 540 400000 Lo
Najeeb left a wealth amounting to Rs. 400000. He left behind a widow, while they did not have any child. Find the
share of Najeeb's widow.

-;éphff/lfa?)f?n 16% z,;&/?)f/’r & 2/3500 =2 SHEEG i)
The price of a bicycle is Rs. 3500. If 16% tax is charged, then calculate the amount of sales tax.
et 9350000 @LJ"J@?JQ«—.&M‘/ (iii)

Calculate Ushar on a wheat crop amounting to Rs. 350000 produced by artificial resources.

gE et 3559002 ig s 1500000 (iv)
e 2 16% (11140000 e SAEN )

If the price of air conditioner is Rs. 40000, then workout the amount of sales tax on it @ 16%.

Calculate the Zakat on gold amounting to Rs. 1500000

Solve: log5 +log 20+ log 24 + log 25 - log 60

Write the 0.051 in the scientific notation. . gL 0051 (vii)
3 R
Siply 23’_/5_ 25),% g_’//ﬂ"/ (viii)
implify: I -5t
Write the (1000)73 in the radical form and evaluate the result. = Sl u.'.‘gﬁd/ue 1000y/3  (ix)
(1000) v =
Attempt any SIX parts: !é‘:‘ﬁ'm{ :.-J:(
1 2 . .
Find the indicated term in the sequence 35> -+ 35 ‘é{r,h"},‘ﬂf@;ﬁuj_pb %,%, e
Find the 6th term of a G.P. —%, c R TR _ngﬂ,q,g S -%, 3 =6 ... AP (i)
Find G M. between -2 and ~8. ~E P K 8 sl -2 (i)

Calk) o

log 5 +log 20 + log 24 + log 25 — log 60 g:i)’ (vi) v

-2

-3

-4
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e ipdid 12,16,21,27,. @)
-ﬂ/&,’lu(jﬁf»uﬁ AdmA={214 A (v)

: ; E ‘ p
-2!)33’3}3}&.6)@: XxYj¥=0248 X=1{0,35 /i (vi)
If X=10,3, 5 and Y ={2, 4 8, then establish any two binary relations in XxY .

i AxB i BEIL ) A=239  (ii)

Find the next four terms of the sequence 12, 16, 21,27, ...

If A={-21, 4} then write two binary relation in A.

ifA={234 and B={., 3} then find AxB
Represent point F(=3,7) on graph. ' -“é/;‘b'{dl/‘f F(3,7) & (vidi)

For data 6, 5,3, 8,9, 10,8 find mode. K 6,5,3,8,9,10,8 L &0 (1)

A 08 Ll - feinl e irfa b g adas
Part - II, Attempt any THREE questions. Each question carries 08 marks.

* v ~ - -~ ed 3 -~ * 7 9
062 To S L 13 U7 It 1674922400 L L8 KursTa el ()
If the stay of 14 men for 8 days in a hotel costs Rs. 22400. Find the cost for the stay of 7 men for
13 days.

S folre o A S el 22327 e B 2s67200 SEILEL AL ()
Three members of a firm distribute the profit Rs. 67200 among themselves in the ratio 2 : 3 : 7.
What is the biggest share of the profit?

_é:‘,yagt@,ﬁg_,gﬁcu:@vg SlUS 2 ;Df,gJJl;ﬂd/';{)lffl.aJc«_J_Ld.__,u750000 Ll (L)
Workout the share of each, if the inherited property amounting to Rs. 750000 is left by a deceased,
who also left a widow, two sons and one daughter.

A I ES G 2 6400 Uikt (&)

The radius of earth is 6400 km. Convert it into meters and write the solution in scientific notation.

?g;u;}i,;/éfi,u@_gfb/?u"ﬁdl’/ﬁJ&%k{A’,uSOMLJXYZL;,,L?LZ/ Sl 6% LJva ()
XYZ bank gained Rs. 8034 on its loan at 6% compound markup in 2 years. What amount did it lend?

-é()”c»g&a I 24 wdwuwéls »la /ﬁl (u:a)
If A.M. between a and 16 is 24. Then find the value of a.

(}*Ugbw?c,c/“&zt.s% £04THSUT —eog-2/150000 Aledf et 3525000 S TR (L)
P 19 W&%%»Jﬂﬁﬁd{,uloooo B2t

The total income of a person is Rs. 525000, whereas the exempfion is Rs. 150000. Workout the
tax payable @ 4.5% along with the income tax rate, if Rs. 10000 has already been deducted at
source as income tax.
B=1{6,8,9} » A={4,6} « U=1{4,6,8,9, 10} //!{_{wlruff;”ﬁug:’dﬁ (;._/)
IfU={4,6,8,9,10},A={4,6} and B= {6, 8, 9}, then verify De-Morgan’s law.

_e b y=x+1(N
e b YL LS e Ut AEUTT100 Ll o APt D (L)

The table shows the distribution of ages of 100 people attending school function. Draw a
histogram to represent the frequency table:

Draw the graph of y=x+1

7 0-19 20-39 40 - 59 60 - 79 80 - 89
Age
‘ 24 43 24 17 10 6
Frequency

10-IX121-40000
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